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Topic:- CDP_P2_S1_CTET

1)
Assertion (A) : The physical development of children is important as it also influences a
child’s social and cognitive development.

Reason (R) : All aspects of development are inter related in childhood and greatly
influence each other.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 28][Question Description = S19_CDP_Q001]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
2)
The principle that suggests growth follows a pattern beginning from head and then
proceeding to the rest of the body is :
(1) Proximedistal principle
(2) Cephalocaudal principle
(3) Principle of individuality
(4)

4)  Principle of uniformity



forarma o1 -1 fagia zrg g 2 for fosra for & we € & oi iR ol & et fewi § ot
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1[Q:u[e;tic_>n III; =1212]][Question Description = S19_CDP_Q002]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

3)
refers to the process of predetermined unfolding of genetic dispositions.
(1) Maturation
(2) Scaffolding
(3) Adaptation
(4) Socialisation
STHET e < gd FA4ia geheieReo &t fshan =l Hefiid e 2|
(1) O
(2) 4=
(3) SIgRT
(4) HHTS R

[Question ID = 30][Question Description = S19_CDP_Q003]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

4)



According to Jean Piaget which of the following factors are influential in determining the
course of cognitive development ?

(i) Maturation

(ii) Conditioning

(i1) Punishment

(iv) Activity

(v) Social experience
(1) @, (), @v), (v)

(2) (i), (i), ()

(3) (i), (iv), (v)

(4) () (), i), @), (v)

it TSt o 19 et O & i § S G fas i fen faffa e €2

(i)  gftgEE

(i) ST

(iii) &M

(iv) Tomam

(v) HHIfSeR Ag9a
(1) (@) (), (), (v)
(2) (i), (i), (iv)
(3) (i), (iv), (v)

(4) (@) (), @), @), (v)

[Question ID = 31][Question Description = S19_CDP_Q004]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

5)

According to Jean Piaget a child who believes that water when poured from one container
to another, gains or looses in quantity depending on the shape of the second container :

(1) has not attained conservation
(2) has not mastered object permanence
(3) is limited in thinking due to animism
(4) is unable to perform seriation
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[Question ID = 32][Question Description = S19_CDP_Q005]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

6)

The correct sequence of stages of cognitive development given by Piaget is :

(1)

Sensorimotor stage, Pre-Operational stage, Concrete Operational stage, and Formal
Operational stage

Pre-Operational stage, Concrete Operational stage, Sensorimotor stage, and Formal
Operational stage

Formal Operational stage, Concrete Operational stage, Pre-Operational stage, and
Sensorimotor stage

Sensorimotor stage, Concrete Operational stage, Pre-Operational stage, and Formal
Operational stage

Tt gy feu U Samedss fashr o =ROT o Hel H S B 2

(1)
(2)
(3)
(4)

[Question ID = 33][Question Description = S19_CDP_Q006]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

7)

Neha resists eating sweets her mother has got for guests because she might get caught.
According to Kohlberg's theory Neha is at which stage of moral development ?

(1)
(2)
(3)
(4)

Instrumental purpose orientation
Punishment and obedience orientation
Universal ethical principles

Good boy-good girl orientation



&1 R i YA |l g ATE THSTE S HeHMl o a0 &, @ H Uehdl € 98 W=t foh @M 9§ 98 THhal
S Hehd € | Fgerar o fagid % stER a1 Afas fawm =t ey s § 87

(1)  =ifser wraer stfife=mg

(2) ESN ST SR sifafam

(3) wEfHeE wfas fagia stffa=my
(4) ST TISehl-3T=8] oieehl Afafa=am

[Question ID = 34][Question Description = S19_CDP_Q007]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]
8)
As per theory children learn through interaction with more knowledgeable
peers and adults.
(1) Lev Vygotsky's
(2) Jean Piaget's
(3) Howard Gardner’s
(4) Lawhrence Kohlberg

forger fgril & STHER 9= o1 ¥ S8l 9 910l SHeRst 3 9u%eni | sid:frn &k dhen €72

(1) o1& AR
(2) i foars
(3) TEE MER

(4) @1 FEAR]
[Question ID = 35][Question Description = S19_CDP_Q008]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]
9)
What plays an important role in cognitive development according to Lev Vygotsky ?
(1) Conditioning
(2) Reinforcement
(3) Cultural context
(4)

4 Heredity
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(1)
(2)
(3)
(4)

HATHT
ERCE!
HiEh{dh
C G EIMETI

[Question ID = 36][Question Description = S19_CDP_Q009]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

10)

In Howard Gardner’s theory of intelligence, the ability to manipulate both the body and
objects is referred to as :

(1)
(2)
(3)
(4)

Logico-mathematical intelligence
Bodily-kinaesthetic intelligence
Interpersonal intelligence
Linguistic intelligence

TEE MER F 95 % fagia ¥ it 3 sl M1 1 FYCTdrges STAr FTH it &7l 1 S
gfg Fa g ?

(1)
(2)
(3)
(4)

TEH-TIIORT fgHe
RIEH-TIfd Helge s Jfg
siadafes I

e s

[Question ID = 37][Question Description = S19_CDP_Q010]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

11)

Visual-spatial intelligence includes :

(1)
(2)
(3)
(4)

The capacity to think in images and pictures, to visualise accurately and abstractly.
Sensitivity to rhythm, pitch, meter, tone, melndy.

Abi]jty to comprehend and create stories and poems.

Ability to classify natural forms such as animal and plant species and rocks and
Mountain types.
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1[9:.:;;1::; |I|; ==134§]][Question Description = S19_CDP_Q011]

2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

12)

A teacher’s remark to boys in a co-education class, “Be strong and don’t behave meekly
like girls” would encourage :
(1) gender equity
(2) gender stereotyping
(3) gender role flexibility
)

(4) gender equality

He-Toren e H @S] o fa ush forers =i feoqoh, ¢ S a1 3 el &1 0@ T3 98 74
" TRt I Sm?

(1) S gad

(2) et wigafa

(3) SfeX yfHer | ey
(4) S HHEA

[Question ID = 39][Question Description = S19_CDP_Q012]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

13 5 S 3 : :
) What should be the pedagogical strategies in a classroom with diverse learners ?

(1) Reasonable accommodation
(2) Standardized assessment

(3) Decontextualized curriculum
(4) Inflexibility in approach



ferfarer Tonenfel=di smeft san & Sieaforer wrifaat =0 St ey ?

(1) Sfaa aEEyE
(2) HEHIFHT HediwT
(3) TR-urEfiTs aresE

[Question ID = 40][Question Description = S19_CDP_Q013]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

14)
Which of the following is an important aspect related to assessment for learning ?

(1) Single strategy of assessment can provide complete information about a child’s
progress and learning

(2) It serves to observe changes in learning progress over time
(3) It does not identify individual and specific needs of all children
(4) It helps teachers to identify children who are mentally retarded

HieH = foe getien &1 Teh Heaqul ae] 1 § 7

(1) oo & fFdl TF & WwHlfd | o= 1 wifd 9 AR 1 geyqui s &1 gar feean sn
Tl B |

(2) ¥E HhEd H B ATl agerd 1 STaelish Hdl ¢ |

(3) T = o SAfgaTd 9 fafere sl 1 7@E geamar

(4) =€ feeni o1 AATRTE Hegfg at 9= @ TEEEY | Heg il ¢ |

1[Q:J?Stiqn |I|; =1: ]][Question Description = S19_CDP_QO014]

2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

13) Aim of Assessment should be to :

(1) Induce fear and stress in the students.
(2) Create feeling of insecurity and inferiority.
(3) Enable comparison among students.

(

4)  Aid in the process of teaching learning.
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[Question ID = 42][Question Description = S19_CDP_Q015]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

16)
Assertion (A) : Only special children benefit from inclusive education.

Reason (R) : The concept of inclusive education is based on the philosophy of
addressing only learners with some impairnment.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) Both (A) and (R) are false

HAT (A) :  GEEe e A Fae fove’ a= &) enafad 2h 2
Th (R):  GHEST fan it saurm 39 <9 W 19 © 6 haa o anf am et
o1 STl Rl &1 ifed feran S|
wel fased 74 |
(1) (A) 3 (R) EHi T8l € 3i (R) Tl =Imen 3l € (A) & |
(2) (A) @R (R) S W&l € wifere (R) et =amen 8 &ed € (A) i
(3) (A)H&l & dfeh (R) 7o & |
(4) (A) 2R (R) EHI e 1
1[.Q:J¢[e;';itci>::] |||[J) 3113]][Question Description = S19_CDP_QO016]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



7 To cater to students from disadvantaged backgrounds teachers should practise :

(1) Social exclusion

(2) Social marginalization

(3) Standardized curriculum

(4) Differentiated instruction

Sfad Iy o BE 1 GHES S o ol fieepl =1 fereet qier e =nfee ?
) HrHIfST SfeshRR

(2) HEISER BIfeER

(3) HEHIHA UISHHH

(4) fadfea few

[Question ID = 44][Question Description = S19_CDP_Q017]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

18)

is an example of assistive technology to aid mobility for students with
locomotor disability.

(1) Wheelchair

(2) Large print books

(3) Word prediction software
(4) Tactile materials

ot § A - wilifE-faes fasmetma & sga faefefE % o wfagiea e as
IR E?

(1) SErer=avafen F5

(2) = HEvETE foars

(3) e wfersgEofl Sren Wideds

(4) e G

[Question ID = 45][Question Description = S19_CDP_Q018]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

19)



Difficulties in mathematical concepts and computation are typical characteristics of
students with :

(1) Dyscalculia

(2) Dyslexia
(3) Dysgraphia
(4) Autism

wfordts stasmonatl SR o § wfemgal fa 2 o fafre fadmant 22

(1) ™ SFed
(2) U dHheH

(3) ©REA d&ed
(4) FSEAA

[Question ID = 46][Question Description = S19_CDP_Q019]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

20 Typical identifying characteristics of creative children include :
(1) Rigidity for ideas

2) High tolerance for boredom

3) Preference for complexity

4) Convergent thinking

(
(
(

THAIHS =11 i fAine qg=r fagmars § e €

(1) T =t e

(2) 3@ % fau 3= giewp
(3) Sifeern & o s
(4) wfvEd A=

[Question ID = 47][Question Description = S19_CDP_Q020]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]



2) Meaningful learning involves :

(1) Provisions of rewards and punishment
2) Opportunities to interact with each other
3) Reflections on learning how to learn

)

4) Opportunites for competition with peers

ayefqul saferm & e witaferd 22

(1) Y&FR 3R €8 H JauH

(2) WH TH % WY FaEd B h A
(3) HiEA % alsh W faEr

(4) wferE] o | giaegal & FEE

[Question ID = 48][Question Description = S19_CDP_Q021]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

22)
Assertion (A) : Learner-centred approach is one where textbook is the centre of all
learning.
Reason (R) : Students in middle school learn best when asked to reproduce the textbook
as it is.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

HI (A) : Torenedt-Ffen gfesm ag ® el weugwas ot e #1352 8

Teh (R): Treafass foamem o 2 99 o7=21 9iEd € 919 Y& &1 IH: U9 & & fau e
S IG

W&l fased 74 |

(1) (A) 3R (R) EHT T& € 37 (A) 1 (R) T =& & 2|

(2) (A) 3 (R) SHi T& € AT (A) T (R) T2 @A 7 &4l 2

(3) (A)H&l & e (R) 7o & |

(4) (A) 3R (R) EHI e

[Question ID = 49][Question Description = S19_CDP_Q022]
1. 1 [Option ID = 193]



2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

23) 2 o . :
In a socio-constructivist classroom, learning :

(1) Is a permanent measurable change in the child’s behaviour

(2) Is a process of co-construction of knowledge

(3) Happens by pairing of a stimulus and response

(4) Takes place when the students are offered positive reinforcement

ek HrHTTSTeh-TFATcHeR el H, 214

(1) =% % =ger § Tl w9 § o9 9rg qiad &)

(2) ¥F % "e-faim i uk ufehn T

(3) T SErA iR wafwn % 7 ¥ g €

(4) 9 BT T DI H] HRIHE A UIERY T S T |
1[Q1L1¢[ecs)t19n |||3 =159(7)]][Question Description = S19_CDP_Q023]
2. 2 [option ID - 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

24)
should be the basis for a conducive classroom environment for learning,
(1) Principles of conditioning and reinforcement
(2) Competition and individualism
(3) Cooperation and collaboration
(4) Segregation and labelling
sifep o fore SfEa e S &1 SR 2H =iEy |
(1) FFer 3R gree & fagia
(2) o IR =fEER
(3) TEENT S HEhReTshdl

(4) YRR o ATHHR

[Question ID = 51][Question Description = S19_CDP_Q024]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

25)



Assertion (A) : Encouraging middle school children to make intuitive guesses and
prompting them to look for different ways is an effective strategy to
promofte pmblem—solving skills.

Reason (R) : Children learn through the processes of discussion and thinking of
multiple perspectives.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

YT (A) : WA T % S R UES eHE oA % fo derfed e i % fafie
TR Y Tl F AU dieafEd S HHe-THH e I aeE o F fog
T gt Tl F

T (R) : o= fafu= gfesmi =1 ==i oiw dra =1 wirmel & mem § ded 3
W& fasey 74 |

(1) (A) 37 (R) SF Tl € i (A) 1 (R) TE =0 +2an §1

(2) (A) 2R (R) 1 W&l ¥ AIfeF (A) T (R) T =amem =& e

(3) (A) ¥l & @A (R) o

(4) (A) 3R (R) i e F 1

[Question ID = 52][Question Description = S19_CDP_Q025]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

26 : :
) Questions in the classrooms :

(1) Should be asked by the students and answered by the teacher only.
(2) Should be asked by the teacher and answered by the students only.
(3) Should not be asked or responded by anyone.

(4) Should be asked and answered both by the students and teachers.

e H 09

(1) ae =2 g0 I8 9 =ifen iR fadk faemr gri & o fomn o =nfew)
(2) Fad fes 57 Y@ 5 =ifen iR ok smi gr1 € S o = =nfew
(3) Tordt & oft grr 7t q@ oiR 7 s fou s e )

(4) B SR faarl <A1 g0 g i 3w fed s =nfew |



[Question ID = 53][Question Description = S19_CDP_Q026]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

27 y 3 £ :
) Intrinsic motivation amongst students can be increased by :

(1) Offering materialist rewards
(2) Negative reinforcement
(3) Fear of punishment

(

4)  Focusing on the joy of learning

ferenfel=i & riafter sifiron = Y S@mE S gHd 2

(1) sfifoererdt JOeFR UH &tk
(2) HNICHE HEEHW g
(3) B & Y4 EH

(4) HREA ® G W E higd Fh

[Question ID = 54][Question Description = S19_CDP_Q027]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

28) Students in middle school construct knowledge and make meaning through :

(1) Active exploration

(ii) Working on abstract problems

(iii) Enquiry and experimentation

(iv) Interaction with teachers and peers
(1) () i)

(2)  (©) (1) (iv)

(3) (1) (i) (iv)

(4) (1) () (i) (iv)



ue faenerd & B fora wfshanedi o gra 39 o1 faio sha € 3iR s1ed feprerd €2

(i) HfERE =

(i) A TS W HH HE

(i) TFAD AT TR

(iv) ToremeRi IR Sifee & W s
(1) (i) (i)

(2) (@) (i) (iv)

(3) (1) (i) @iv)

(4) (1) (if) (i) (iv)

[Question ID = 55][Question Description = S19_CDP_Q028]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

29)

Teachers should encourage children to think of ability as

Fixed; shameful and humiliating,

1
52; Incremental; an oppportunity for improvement.
(3) Fixed; an opportunity for improvement.
(4) Incremental; shameful and humiliating.
Toregent =i =nifew fo6 & sr=i skt A =i 3 YA i
o ferg wrearfed = |
(1) w=rh; s it sToarsHS
(2) ofgelie; ur < sTas %
(3)  TATEl; YHR & FEHL 5
(4) gfgefe; s @R STTFSE

[Question ID = 56][Question Description = S19_CDP_Q029]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

and failure as

w9 H He

30 would be a contributing factor for children’s academic failure.
(1) Collaborative learning
(2) Inclusive classroom
(3) Decontextualised curriculum
(4) Meaningful learning
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(1) Hearessh foe

(2) HHE el

(3) TR-WTH{TE qEFFH
(4) e s

[Question ID = 57][Question Description = S19_CDP_Q030]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

Topic:- SS_P2_S1_CTET

1)

Match the following in the context of rulers of Delhi during medieval period and choose
the appropriate option.

A B

(a) Tomaras (i) 1175 - 1192

(b) Ananga Pala (i) 1165 - 1192

(c) Chauhans (iii) Early 12th Century - 1165
(d) Prithviraj Chauhan (iv) 1130 - 1145

(1) (2)-(i), (b )( ) (C)( ) (d)-(0)

(2)  (@)-(ii), (b)~(iv), (c)-(i), (d)-(1)

(3) (@), (b) () (L)( ) (d)-(i)

(4)  (@)-@), (b)-(i1), (€)-(v), (d)-(iii)

Hegepel § fawelt & Sl % deo § fefafaa &1 faem wifey, it swgsr fasmes =1 g7
wHifery |

A B
a) MY (i 1175 - 1192

(

(b)  SHIYTA (i) 1165 - 1192

(c) =rRHA (iii) 2TRfYR 12 o o - 1165
(d) THERSERE  (iv) 1130 - 1145

(1) (@)(i), (b)-v), (o)-(iii), (d)-()

(2)  (a)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

(3)  (@)-@v), (b)-(1), (c)-(iii), (d)-(ii)

(4)  (a)(), (b)-(id), (c)-(iv), (d)-(iii)

[Question ID = 58][Question Description = S19_Social Science_Q031]



1 [Option ID = 229]
2 [Option ID = 230]
3 [Option ID = 231]
4 [Option ID = 232]

A W N -

2) In the ancient Tamil Nadu the settlement of were called Ur.

(1) merchants
(2) nobles
(3)
(4)

peasants
craftsmen

Y dfierrg | ! il &l 3 (Ur) Fed 9|
(1) =i
(2) T/ ATl
(3) wfdedi/feram
(4) Terwesd
[Question ID = 59][Question Description = S19_Social Science_Q032]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

" Match the following in the context of rulers of the fall of Mughal empire.
A B
(a) Farrukh Siyar i) 1759 - 1816
(b) Shah Alam II (i) 1713 - 1719
() Ahmad Shah (iii) 1754 - 1759
(d)  Alamgir IT (iv) 1748 - 1754
(D @-@), (b)), (c)-(iv), (d)-(ii)
(2) (@), (b)-(ii), (c)-(1), (d)-(iii)
(3)  (a)-G), ( ) (1), (0)-(iv), (d)-(iii)
(4)  (@)-(i), (b)-(0), (0)-(ii), (d)-(iv)



el HHR % 9a4 o Hed § frefafed s faer wifsg )

A B

(a) TREEEH i 1759 - 1816
(b) ¥E emem fgda (i) 1713 - 1719
(c) EHENE (iii) 1754 - 1759
(d) sTEmR T (iv) 1748 - 1754
(1) (a)), (b)- (ﬂ‘l) ()-(iv), (d)-(ii)

(2)  (a)-(w), (b)-(i), (c)-(i), (d)-(iii)

(3)  (@)(@i), (b)), (c)-Gv), (d)-(iii)

(4)  (a)-(id), (b)-(), ()-(id), (d)-(iv)

[Question ID = 60][Question Description = S19_Social Science_Q033]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

4 ; ;
) ’Coparcenary inheritance’ means

(1) favourite son inheriting his father’s estate
(2) eldest son inheriting his father’s estate
(3) division of the inheritance among all the sons and daughters
(4) division of the inheritance among all the sons
"SRR 1 HeaEms' v o A9 € !

(1) = O =R e fian =6t gufs faaga & foem
(2) U3 YA okl A9 T skt guf fowred o e
(3) u+fl o= 9 gl & 9 favma 1 favrsa

(4) 90 TH % o= forEa =1 favsE

[Question ID = 61][Question Description = S19_Social Science_Q034]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

*) The devotional hymns written in Marathi are known as :
(1) Stotram
(2) Bhajanam
(3) Prabandham
(4) Abhangas



Ut § ford v a1 forg 9 9 S0 S 7

(1) wEH
(2)  HSTH
(3) HEYH
(4) &9

[Question ID = 62][Question Description = S19_Social Science_Q035]

1. 1 [Option ID = 245]

2. 2 [Option ID = 246]

3. 3 [Option ID = 247]

4. 4 [Option ID = 248]

6)
Read the following statements about saints lived in present-day Maharashtra and choose
the appropriate option.
(A) Thirteenth to the seventeenth centuries saint-poets rejected all forms of ritualism

and social differences based on birth.

(B) These saint poets preferred earning their livelihoods and humbly serving fellow
human beings in need.

Options :

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3)  (A) is true but (B) is false.
(4) (A) is false, (B) is true.

HreE HeRTe H @ Heil & A § FreAfatad we w ufey st srgE fawes w1 gE s |
(A) oEdl 9 Taed] vaesl H§ g¢ Hid Hal 7 G UER F wHEIS] AR S AR ST

feriy fepamm

(B) 3 hfa Hail 7 TS A AR formarye siEetars wefl safei =l da &id gu i
ferar =hl stferes g foan |

Taereq :

(1) (A) 3 (B) 2 wE €

(2) (A) 3R (B) 3 e €

(3) (A) WE & iR (B) T &

(4) (A) 7TeRd € W (B) W&l

[Question ID = 63][Question Description = S19_Social Science_Q036]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



7 Which of the following are matched correctly ?

(A) Bakhshi - Officer in charge of military organization.

(B) Sadr - Minister in charge of religious and charitable patronage.
(C) Igtadars - Military commanders

(D) Kotwal - Officer in charge of town administration.

Options :

faerey :

(1) &= (C) ¥R (D)
(2) e (A), (B) ¥ (C)
(3) Fae (A) 3R (B)
(4) el (A), (B) HR (D)

[Question ID = 64][Question Description = S19_Social Science_Q037]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]
8)
Which of the following terms was used in Madhya Pradesh for “shifting cultivation” ?
(1) Bigha
(2) Bewar
(3) Baiga
(4) Mahal



Fr=fafad 5 | s s 521 9o § gHq @t o foru g%dmret 2 on ?

(1)
(2)
(3)
(4)

ElE]
EEE)
Edll

HEe

[Question ID = 65][Question Description = S19_Social Science_Q038]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

9)

Read statements "A” and "B’ considering the social changes in the early nineteenth century
and choose the correct option.

(A)

(B)

Lt B e s T
o =

= W
B S

From the early nineteenth century, we find debates and discussions about social
customs and practices taking on a new character.

One important reason for this was the development of new forms of communications
like books, newspapers, magazines and pamphlets were printed.

Both (A) and (B) are true and (B) explains (A).

Both (A) and (B) are true but (B) does not explains (A).
(A) is true but (B) is false.

Both (A) and (B) are false.

19+ H&1 & IR H HHEise 9fEmy & §a4 § HUAl ‘A’ T8 ‘B’ HI e a9 Hel faehed 94 |

(A):

(B) :

3

(
(
(5
(4)

19 of @t % yeerd ¥ & & wfae dfe-famsi o gea-amel & wefig agg-
garfed it F=isil #1 =Ey g foars &@ 2

T U 318 goig 48 off for Tur & 734 ad=i 99, frae, svger, afsmerd o o9 s
<1 ferehTe 21 221 o1 |

21 (A) TH (B) TEl € 3 (B), (A) T =W FIAT |

Ml (A) T (B) W@l € forg (B), (A) 1 =ame & ¥ ¢
(A) W&l & foreg (B) T & |

T (A) T (B) TTETE € |

[Question ID = 66][Question Description = S19_Social Science_Q039]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

10)



Read statements (A) and (R) and choose the correct option.

Assertion (A) : As a child Dr. B.R. Ambedkar experienced caste prejudices in his daily
life.

Reason (R) : Father of Dr. B.R. Ambedkar taught at an army school.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

FoA (A) TS (R) 1 98 q1 T&t 39 A |

T (A) : T AR, STEEHT | g9 § ol oy et | Sufrd v Ser o
WHEUT (R) : T H.3AR. TeEHt & fiar us & w5a § vg 91

w& famey 99|

(1) (A) 2R (R) 3FT ©& €, aiR (R) W& =rem =3 € (A) #i

(2) (A) 3R (R) 21 WEl €, wifera (R) WEl =amem 781§ (A) &

(3) (A)HEl &, @A (R) T €

(4) (A) 3R (R) THI 7Ted € |

[Question ID = 67][Question Description = S19_Social Science_Q040]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

11)
Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : E.V.Ramasamy Founded Self Respect Movement in the erstwhile Madras
Presidency.

Reason (R) : He did this to make people to fight against the caste based discrimination
within society.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.



Taeferfad el (A) S (R) =1 9T ST 39 faehed @l =47 Shifed |

T (A) : Bl AR YayE HEE SHISH § @iiiEE stk I e

THIOT (R) : I=i UH SN ] F916 § Sfard S<ure o faens ged i & o fan )
(1) (A) 3 (R) 3T F&l £ 37T (A) &1 (R) &l =40 & & |

(2) (A) 3 (R) SHT wE § A (A) T (R) T =are 18 & 2|

(3) (A) =g § &ifed (R) 7o 7|

(4) (A) 3 (R) 2T Terd & |

1[Q:.|t[e;titgn |||; =266§j|[Question Description = S19_Social Science_Q041]

2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

12 . j :
" Who opposed the Jinnah's two-nation theory ?

(1) Sardar Vallabhbhai Patel
(2) Khan Abdul Ghaffar Khan
(3) Vir Savarkar

(4) Maulana Azad

T =11 o -t fagia a1 fadiy fean 2
(1) HER deay 9§ 9oa

(2) WH egA TFRR EH

(3) R HEwE

(4) HiEAH A

[Question ID = 69][Question Description = S19_Social Science_Q042]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

13) Consider the fn]lowing statements regardjng revolt of 1857.

L A massive rebellion started in May 1857.

II. It was the biggest passive resistance to colonialism.

III.  Sepoys and common masses participated in large numbers,
Which of the following statement(s) is/are incorrect ?

(1) OnlylI

(2) Only Il

(3) BothIandII

(4) Both II and III



1

1857 & fagie & ai # frefafad wue v fa=m #ife

() = 1857 H Wil fagie &1 ARy ga |

(I) ¥ Sufavare & faeg 9o e sfairsd (fge) endem on
(I11) 35 faafedl sik 59 |em 3 a2t 9en 5 i fan

T 91 FHF e e o/ 7

(1) Fae (I)
(2) e (D)
(3) (1) S (1) <
(4)  (II) AR (111) S

[Question ID = 70][Question Description = S19_Social Science_Q043]
. 1 [Option ID = 277]

2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

14)

Consider the statements (A) and (B) about ‘Subsidiary Alliance” and choose the correct
option.

(A) Indian rulers were allowed to have their independent armed forces.

(B) Indian rulers were required to pay to the East India Company.

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4) (A) is false, (B) is true.

(A) 2R (B) FoAT W ‘were dfy' & def § faur #ifu v @ fasey = =97 sifaw
(A) REA DT 1 AT Ta= I 1 T i STAM o |
(B) YIS WTEeh] Rl % SFed1 SO =l YT il TSdl o |

(1) (A) 3R (B) SFT =& ¥
(2) (A) 3 (B) gl e €
(3) (A) %I g wiferd (B) TTeid 2
(4) (A) e ¥ @R (B) T B

[Question ID = 71][Question Description = S19_Social Science_Q044]

A W N -

1 [Option ID = 281]
2 [Option ID = 282]
3 [Option ID = 283]
4 [Option ID = 284]



") Consider the following pairs :

Planet Time taken
(for one spin on axis)

L; Uranus - 17 hours 14 minutes
1y Neptune - 16 hours (07 minutes
III. Saturn - 25 hours 40 minutes
IV. Mars - 09 hours 56 minutes

How many above mentioned pairs are correctly matched ?
(1) Only one

(2) Only two
(3) Only three
(4) All the four

T gl W fa=m shifau)

T 37O 3787 T YOI T W
) 9 - 17%2 14 T
(I) ==A - 168207 e
(I wifq - 259240 fAAe
(IV) HTa - 09 H2 56 foe
ST H fore g Wl Ao €2
(1) o TH
(2) Had &l
(3) hdaA T
(4) = =R
1[Q:J¢[ecs)ti<?n Ill; =278§]][Question Description = S19_Social Science_Q045]

2. 2 [Option ID = 286]

3. 3 [Option ID = 287]

4. 4 [Option ID = 288]

16)
Which of the following statements about the International Date Line is correct ?
(1) International Date Line is a straight line joining the North-Pole to South-Pole.
(2) International Date Line passes through water body only.
(3) International Date Line passes through both water and land bodies.
(4) International Date Line roughly follow 0° longitude.



st fafe v & o F fey § 9§ e oA g 7 2

(1) eraue fafy v us i v € 3w g o sl ya 9 Sed E
(2) e fafy T e STl 9§ S e

(3) e fafy e sefia 9 e ST 9T § e TeRd ©

(4) U fafy Y e 0° SYiE 1 STTET (WY-H1y) w

[Question ID = 73][Question Description = S19_Social Science_Q046]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

17)

Read the following statements (A) and (R) and choose the appropriate option given below.

Assertion (A) : By measuring the angle of the Pole Star from your place, you can come
to know the latitude of your place.

Reason (R) : The distance from the equator to either of the poles is one-fourth of a
circle round the earth.

Options :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.

Trefafaa sweHi (A) 3R (R) =l 9feq q21 3ugd fasheq @1 597 Shifad |

T (A) : I TIH T 89 TR 1 HI9 WIS 7T T T &I S e € |

IO (R) : fauad g 9 <M1 0% g & org i gl Y=t o IRl 7 & g &1 U = ¢
faeney .

(1) (A) 3 (R) ST Tl € a1 (R), (A) i TE =0T ©

(2) (A) 3R (R) 31 W&l § a1 (R), (A) Tl Hel = 76 ©

(3) (A) WEl € 9 (R) e @

(4) FHT (A) T (R) T ©

1[Q:J<[a;;itci>; |||; =21‘31]][Question Description = S19_Social Science_Q047]

2. 2 [Option ID - 294

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

18)



When we travel from an Indian city to Tokyo (130° 45°E), the capital city in Japan, how
many hours we will gain or lose (let us ignore the time required to reach the city) ?

(1) Gain about 4 hours

(2) Lose about 4 hours

(3) Lose about 12 hours

(4)

4 Lose about 8 hours

9 B9 U WA ¥el H STIE i TSEHET ST (130° 45 99 ) &1 A0 & & a9 89 fhad 5
S T =1 A (IR T UgTH & T @ 9T STEveE GHA 9 §H AsHe Y 8) ?
(1) eFIeT4 52 sfsia &l

(2) TS 4 S @

(3) IV 12 EE TEm

(4) TN 8 E A

[Question ID = 75][Question Description = S19_Social Science_Q048]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

(o]

19 : : 5
) The main minerals of oceanic crust are ;

(A) Magnesium

(B) Alumina

(C) Silica

(D) Nickel

Options :

(1) Only (A)

(2) Only (B) and (C)
(3) Only (A) and (C)
(4) Only (C) and (D)



TRRATE TS 3 e wh

(A) Frifrae

(B) T

(C) Taferm

(D) BIETS]
fawea .

(1) 9 (A)

(2) = (B) ¥R (C)
(3) e (A) ¥ (C)
(4) %9 (C) ¥R (D)

[Question ID = 76][Question Description = S19_Social Science_Q049]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

20)

A person had visited a region and found trees such as oak, ash, beech and birds like
pheasants, monals. Which one of the following vegetation regions he/she may have

visited ?

(1) Tropical evergreen forest
(2) Temperate deciduous forest
(3) Coniferous forest
(4)

4 Mediterranean forest

ek = A forelt € o1 S foman 3l ael <8 o, U1, S & S qe isie, A qaft el seA
T § § form aeafa &= o1 S foman g ?
(1) SUERfesHY HeEER 9
(2)  gitdrsy quidrd &=
(3) RIPUR =
(4) Y9 9REE &1
1[Q:J¢[e;tiqn IIIZD) =3Z]][Question Description = S19_Social Science_Q050]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



2D The growth of natural vegetation is very limited in which region ?
(1) Temperate region
(2) Tundra region
(3)
(

4) Torrid zone

Frigid zone

forg &3 o srga & wifoa wrepfaess sl fredt ¥ 2

(1) i skfzss &
(2 zged

(3) viid wfedsly &=
(4) I a3

[Question ID = 78][Question Description = S19_Social Science_Q051]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

Choose the correct option based on the statements (A) and (R) given below.
Assertion (A) : The water of the ocean is salty or saline.

Reason (R) : Ocean water contains large amount of dissolved salts.
Options :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is incorrect.

(4) Both (A) and (R) are incorrect.

Tefafad w91 (A) T (R) & SR 9 98 foshed &1 =94 Sif9
T (A) : HEENR F S AFU1Y 7 @R el # |

TR (R) : TR F Sl H o<1 060 8 5o g0 a9 8 ©
faerea :

(1) (A) 3 (R) SFl w& § a1 (R), (A) it W =arem g

(2) (A) 3R (R) TF T&l § W= (R), (A) T el == 761 § |
(3) (A) ¥l ¢ T (R) Ted & |

(4) 2HI (A) 9 (R) TTed € |

[Question ID = 79][Question Description = S19_Social Science_Q052]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]



4. 4 [Option ID = 316]

) The depositional feature of the wind is called ,

(1) Loess

(2) Mushroom rocks
(3) Moraine
(

4)  Stacks
Yo o AR R FEI ST |
(1) g
2) = I
(3) feie
4 =

[Question ID = 80][Question Description = S19_Social Science_Q053]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

24 : ; : g
" The place where a river flows into another body of water is called

(1) Delta

(2) Levees

(3) Oxbow Lake
(4) River's mouth

for wom w7 ot e steraf A frerdt ® 38 e €
(1) <=

(2) TS
(3) =UEia
(4) =< qEE

[Question ID = 81][Question Description = S19_Social Science_Q054]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



) Consider the following list of characteristics and identify the type of forest.
(A) The forests are so thick and receive rainfall throughout the year.
(B) Rosewood, ebony, mahogany are the important trees of these forests.
(C) These forests occur in the regions near the Equator and close to tropics.
Options :
(1) Tropical deciduous forests

2

Temperate evergreen forests

2

(
(
(

)
)  Coniferous forests
)

4)  Tropical evergreen forests

et geftarg el o fomR i @i a9 % 9eR o v i
(A) F oA & & 2T |l 9 ol Bt ¥

(B) INIgE, ST&H, HRITHT §9 YR o g1 o Hedqu g4 B |
(C) ¥ 97 Yu= T SR I Hia¥ % IH I S & |

faemeT -

(1) SweEkfesHa qofurE &=

(2) ST HEWRER a3

(3) FERI 7

(4) ToTehfesrET HeEER
[Question ID = 82][Question Description = S19_Social Science_Q055]
1. 1 [Option ID = 325]

2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

26)
Sustainable development refers to :

(1) Conservation of mainly renewable resources.

(2) Limited use of resources.
(3) Saving resources for our children and relatives.
(4) Conserve all kinds of resources, use only as per requirement and save for future.



Haq faswm &1 3919 T

(1) H&Ad: Tl GEeH! Rl HLe |

(2)  HEIHAT 1 HITHT ST |

(3) A9t Hawl ud HaftEi o fore dareE & 9= |

(4) Tt T2 o HHHAT T I ], HEd AEIHRATER TN FA 921 vfae & fag
EEisil

[Question ID = 83][Question Description = S19_Social Science_Q056]

2. 2 [option 0 - 330

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

27)

China, Malaysia and Indonesia are leading producers of which of the following
minerals ?

(1) Lead
(2) Tin

(3) Nickel
(4) Zinc

=, geifvrn it st e § O forg a@fes & sl seares 29§72

(1) HiEr
(2) fes
(3) FreFa
(4) ST

[Question ID = 84][Question Description = S19_Social Science_Q057]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

28 : : ; :
) In terrace farming, sides of each plot are raised in order to

(1) protect the seeds from pests

(2) retain water

(3) prevent fertilizer from being swept away
(4) create distance among different crops



A At | S % 91 gHel o foeil b W sS fem s gl
(1) HS o1 Hi2 A F=E S Hoh

(2) UF ZFE F i T W@

(3) @G & T Y

(4) FETI & SS9 I T S Hh

[Question ID = 85][Question Description = S19_Social Science_Q058]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

29 : :
) Permanent shops in a market are those which have

(A) people employed on a permanent basis.

(B) license from the Town Panchayats and Municipal Corporations.
(C) Dbeen functioning for more than 10 years.

(D) Dbeen located in large cities.

Choose the appropriate option.

(1) (A), (B) and (C) only

() (A)and (B) only

(3) (B), (O and (D) only

(4)  (A), (O) and (D) only

Tk R H Ut gFM o Bt © |

(A) <Rl % Fe=ur Fafrg @0 ¥

(B) T 7 vrex v oiR R fm o gdd g
(C) St10=dd R I gl gE €

(D) i geId: 98 wedl | gt §

I9gA Taked &l g4
(1) ad (A), (B) 3 (C)
(2) e (A) R (B)
(3) ad (B), (C) ¥ (D)
(4) EE (A), (C) 3R (D)

[Question ID = 86][Question Description = S19_Social Science_Q059]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



)" The elected members in a Municipal Corporation are called :
(1) Senators
(2) Delegates
(3)
(

4)  Councillors

Executive

TR 1 | A T G 1 Ed € -
(1) HF=
(2) Hfafafy

(3) eIt (R )
(4) g

[Question ID = 87][Question Description = S19_Social Science_Q060]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

' Who appoints the Chief Minister and other Ministers ?

(1) The Prime Minister

(2) The President

(3) The Governor

(4) The Chief Justice of High Court

qerdHdl &R =1 {1 e e g 2

(1) wEFHs
(2) A
(3) TETUT

(4) = FEEE T A AEH

[Question ID = 88][Question Description = S19_Social Science_Q061]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

32)



Read the following statements (A) and (R) and choose the appropriate option given below.

Statement (A): Debt is a major cause of distress among farmers which has also resulted
in many farmers committing suicide.

Statement (R): Small farmers borrow money from money lenders to purchase seeds,
fertilizers and pesticides, etc. and unable to pay back their loans.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

fmfefad el (A) 991 (R) W foar & ek 3uge fasme 991
WU (A) : Fel fHEFET FI fauer &1 gea wR9 54 7 8, Gk §e 9 gae w2 fHaE |
AR Th L L

HUA (R) : Bie fFEM] 1 &S, @IE 9 HIEANER SH HHA! H Sed o oy "l 9 &5 od
& Fordl o e Fer <ok 7 T ¥

(1) (A) 3R (R) ST w&l & ot (A) F1 (R) D& =2 i § |

(2) (A) 2R (R) SHT TEl & A (A) FT (R) Tel =9me & 3 2

(3) (A) F& & @i (R) 7o 21

(4) (A) S (R) SFT Terd B

1[Q:1?;;itci>; Ill; =3z;§]][Question Description = S19_Social Science_Q062]

2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

**) Which kind of labour is prohibited by law in India ?

(A) Bonded

(B) Casual

(©) Daily wage

(D) Unorganized

Choose the correct option from the codes below :
(1) Only (D)

(2) Only (A)

(3) (A) and (B)

(4) (B), (C) and (D)



A | fohd T8 % 99 1 A g1 wiaeted T mn €2

(A) =R

(B) &fafgd

(C) fert

(D) erHwfad

=1 foau T el H ¥ Tat fawey 1 gaa #L |
(1) = (D)

(2) R (A)

(3) (A) ¥R (B)

(4 (B), (O) ¥R (D)

[Question ID = 90][Question Description = S19_Social Science_Q063]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

*»" The main reason behind having more than one level of Government in India is :
(1) Vast number of communities

(2) Security of the border areas

(3) To appease the Princely States

(4) Familiarity of the system during the British Rule

YId H FhR & Tk § AR T F &1 &1 998 € :
(1) THEEl % 99 qex

(2) HiHid & 5 g

(3) TEmEd #i g= FE (Fq F)

(4) Torfes wma o 50T e &l A= BRI

[Question ID = 91][Question Description = S19_Social Science_Q064]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



) Consider the following statements.
(A) Boys make a better Scout’s leader than girls
(B) Girls are good at playing football
(C) Girls are gentle and good care-givers
(D) Boys are rough and bully
Which statements may foster ‘Stereotyping’ ?
(1) (A), (B) and (C)

(2 (A), (C) and (D)
(3) (B) and (C)
(4) (A) and (B)

Trefafaa sweAl g faar Fifvg -

(A) wEfRdl i gor H TTh T Seal WhIS TSt ad ©
(B) ISRl Fediel Wer H =5t et §

(C) Wl O (Figer) iR o1=si 3@are w3 arell ardl ©
(D) IS qa S 3 B 8

A H T Tigareal Hi 9 Fd € 2

(1) (A), (B) 3R (©)

(2) (A), (©) X (D)
(3) (B)#R (Q)
(4) (A) 3R (B)

[Question ID = 92][Question Description = S19_Social Science_Q065]
1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]

A W N -

3¢) Which of the following consists Parliament of India ?

(A) Rajya Sabha

(B) Lok Sabha

(C) State Legislative Assemblies
(D) The President

Choose the correct option :

(1) (), (B) and (C)

(2) Only (A) and (B)
(3)  Only (B) and (D)
(4) (A), (B) and (D)



frafafeg § 9 #9559 9 & 598 991 & 7

(A) THH

(B) wrRHHl

(C) T faur |

(D) rgHid

we fasey = 997 Fife
(1) (A), (B) =R (©)
(2) AT (A) 3T (B)
(3) AT (B) 3R (D)
(4) (A), (B) 3R (D)

[Question ID = 93][Question Description = S19_Social Science_Q066]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

) A secular state, according to Indian Constitution should

(1) encourage the dominant religion to bring other religions into its fold
(2) involve in religious activities for nation building
(3) not support any one religion
(4) not interfere in religious conflict in the country
YA HIGHH % SER U HH04 19 6l =1fgu |

(1) WYcawedt o =l 371 ¥H] &l YA d8d @ & fau gieafad/aid e
(2) I fmio o forw enfes nfafafes § i g

(3) et we end =1 gueds € &

(4) <wF enfife el faarg o ey & #T

[Question ID = 94][Question Description = S19_Social Science_Q067]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

38)



“India has an integrated Judiciary System.”
Which of the following explains this sentence better ?

(A) A person can approach higher court if they are not satisfied with the judgment of
the lower court.

(B) Decisions made by the higher court are not binding on the lower court.
Choose the correct option :

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.

(3) Only (A) is true.

(4)  Only (B) is true.

2

' STRA % U Uehichd AT sqae 2 1

Trefafad | 9 1F 91 39 919 i dedl ST il § 7

(A) =i 3= =rmEed S HEdl © TR 98 Frael seed % e § Haw 6
(B) U erarerl g fere T foi et swereml W A w1 E

et fasrey 1 =g Hifa

(1) (A) 3 (B) i == &

(2) (A) 3i(B) EHl TEa §

(3) HAA (A) WE &

(4) Hae (B) el ®

[Question ID = 95][Question Description = S19_Social Science_Q068]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

) The process of ghettiozation of a particular community results in
(1) its segregation from the rest of the society
(2) diversification of its culture
(3) protection of minorities
(

4)  its social empowerment



Torelt T ok BIRISTESIY i WishAT 1 dis 2l 8 |
(1) SHeHT k] HHIS H SAerTd
(2) 3Tl Hepfa = fafasfimm
(3) HCUHEIH H HIE
(4) TR | HfRR
[Question ID = 96][Question Description = S19_Social Science_Q069]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

40)

Which among the following is a step towards recognizing street vending as part of right
to livelihood ?

(1) Creating trading zones in towns and cities

(2) Banning vendors on streets

(3) Replacing vendors with small shops

(4) Imposing taxes by local government on street vendors

Tl i Sl O W S i Sfaehre % i & Y § <@ &I Tk a0 Fefafed §
Y 1 Uk FeH © 7

(1) Femy 3 Iel-T 9H 9= % fau vl F F2 3ol &1 fFn s

(2) Sl I HSHI YT FiqaiEd e

(3) B THMEI FI ST I SR T <

(4) o1 SR FEOY W GHH S99 W L TWER G FHL AT

1[Q1L11[e;t19n IIIIZ)) =3‘;§j|[Question Description = S19_Social Science_Q070]

2. 2 [Option ID = 386]

3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

41)



Consider the following statements (A) and (R) and choose appropriate option.

Assertion (A) : Sodial science textbooks should have several narratives both fictional and
real.

Reason (R) : Narratives enable the learner to understand ideas and institutions and
encourage introspection.

Options :

(1) (A) and (R) both are true, (R) explains (A).

(2) (A) and (R) both are true, (R) does not explain (A).
(3) (A)is true, (R) is false.

(4) Both (A) and (R) are false.

frrAfertad e (A) 3 (R) T o= sifs qer suesr fasmey o1 =97 Sifeu |

HYF (A) : AT O *T TRAYETH § 3T Hledfeh Ud arfash Sl guid e 9mey |

TR (R) : goid Afermeraied i fouml 9 g 1 gug@ o a9 99 € qon sfafieo
HreHIEd R 2 |

faerea .

(1) (A) 3% (R) S ®&l €1 (R), (A) I =41 FIa & |

(2) (A) 3R (R) S T& B 1(R), (A) I =& &l I |

(3) (A) @l g, (R) Tewd €

(4) Al (A) T (R) T £ L

1[Q:J¢[ecs)ti<?n Ill; =3‘;§j|[Question Description = S19_Social Science_Q071]

2. 2 [Option ID = 390]

3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

3

42)

The basic purpose of teaching social sciences at school level is to make students
(A) informed and rational

(B) professional

(C) politically proactive

(D) socially active

Choose the appropriate option.

(1) (@A), (B) and (C)
2 @) d (D)
(3 (A) ( ) and (D)
(4)  (A) (B) and (D)



Thell WX I AT Taa o a1 o SERyd 3699 @l faenfeai =i
(A) STHHER R difehar F=ET

(B) USSR I

(C) srifass €9 4 31fd |isha FM

(D) HHISE &9 9 FiFT T

I9gFa fahed =1 =97 Hifau|

(1) (A), (B) 3 (Q)

(2) (B), (C) R (D)

(3) (A), (O ¥R (D)

(4 (A), (B) &R (D)

1[.Q:J([e;;it<i):1 |||3 :3?;;]][Question Description = S19_Social Science_Q072]
2. 2 [Option ID = 394]

3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

43)
Which of the following is most appropriate to make students to understand various roles
and responsibilities of personnels of Mughal Administration ?
(1) Survey
(2) Role-play
(3) Time-line
(4)

4)  Open-ended Questions

Ternfel =t 3Tel Weme o kiHEl okt fafay gitersti v soeieE i gaar o fou freafated
T ¥ waifas STge FH W7

(1) Helaqm

(2) e e

(3) HHE-HHI

(4) G 3d 9 I

[Question ID = 100][Question Description = S19_Social Science_Q073]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

44)



If Parliamentary form of government is explained with an analogy of a school where
Principal is the Prime Minister and senior teachers are Council of Ministers. What would
be most appropriate analogy for school administrative staff ?

(1) Legislative

(2) The Opposition
(3) Judiciary
(4)

4 Executive

fomITer & WA % TIY SN SRR % TU<H B9 it SIS i S § STel G, G ®
e afte foerr, =15 uftag 81 == fommert we=iE & faw w9 |1 Svge 95yg 2 2

(1) faenfaem
(2) feraar

(3) AR
(4) =TT

[Question ID = 101][Question Description = S19_Social Science_Q074]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

45)

A teacher begins her class by discussing the incidence of people gathering to discuss the
issue of land for cattle grazing. She is most likely discussing which of the following ?

(1) Urban Administration
(2) Panchayati Raj

(3) Lower Judiciary

(4)

4 Reservations

ek TorfareRT ST01 e w1 STRY-TY) (HEEH) IRAE & fau gfa | gefug ame o g9t o fa
TR {3 81 T& N oh! S W == g1 Hdl € | 98 Frefafad | | form W Haifad ' 8 == 9
WE?

(1) R J9ET

(2) H=EEdl TS

(3) Traei =mrfen
(4)  FRE

[Question ID = 102][Question Description = S19_Social Science_Q075]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



46)

If any topic leads to heated discussion in a classroom, then what is expected from a
teacher ?

(1)
(2)
(3)
(4)

Teacher should silence all the students and defer the discussion indifinetly.
Teacher should deal firmly with open-mindedness and discuss such issue.
Teacher should scold those who are loud.

Teacher must strike off such tnpics in the beginnjng cm]y.

FHel H SR e Tawy sqmayol gfest 1 3ea= R § 79 U e | @ oqufa gan ® 2

(1)

(2)

(3)
(4)

Torerer =t Tt faenfela =61 wiiq s =few s uftes= o1 afafeq s & fou afim s
=feu |

Toreter =1 U "Hel 9 ui=El afteadr 9 el Jifey @il @ds foeri & W g ® 9
=1 el ST b |

foreter &1 S 3 TR H 9 W@ B 3% sl 9ifew)
forerr ey ° € U9 fawdi = &2 <91 =nfgu )

[Question ID = 103][Question Description = S19_Social Science_Q076]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

47)

Consider the following statements with respect to the role and responsibility of a social
science teacher and select the correct option.

(A)
(B)

ClG

2

ﬁﬁﬁﬁﬁﬁ
|53 —
T Mie® | ™ ”

She should keep students entertained with activities and projects.

She should be well informed educator who keeps herself upto date with the
contemporary events and issues.

Help learners establish a connect between life and school life day-to-day.
Ensure outcome based classroom environment to learners,

(A). (B), (C) and D)

A) (B) ©



e aratfess fasm e i ufge oik e o ded § f el i foam i o o&
Toereq =4 |

(A) = faenfet = nfafafidi it ufEemst % @y wRsH wo =nfen |

(B) 39 U Uwn ey g1 Al Sl wHeRTers geAnel R g8 & 99 | g & giua Tt g
(C) Torenfel=i =1 w1ep fp <o IR Spell S § Gew Tonfod 33 § Heg i |

(D) Toranfel=ni o foau wwdien snurfa e s gifrad i

(1) (A), (B), (©) ¥ (D)

(2 (A), ()R (©

(3) (B) 3R (C)

(4) (B), (O 7 (D)

[Question ID = 104][Question Description = S19_Social Science_Q077]

1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3.

4. 4 [Option ID = 416]

3 [Option ID = 415]

48)

While discussing gender roles in the classroom teacher should focus on which of the
following point ?

(A) Household work is not a paid work so it cannot be counted as productive work,
(B) Gendered issues are about women and girls alone.

(C) Case studies can be used to show that the process of socialisation is not uniform.
Choose the appropriate option.

(1)  Only (A)
(2)  Only (B)
(3)  Only (C)
(4) Both (B) and (C)



e 1 et yfsmedl w == e wua fees o e 8§ R aw st e s = 2
(A) =If "5 HE ' H g TRl g S SHGT 3H IEF A AG HIAl S = |

(B) ifireral o Hg fad afeenedl iR arsfal & 2d €|

(C) ¥ <A = Ty for HATSTeRIol e SATe Weh Sl T2l eidl &, 6 TZErs &1 Wi foman o

TFa1 S |
SUGE Taehed &1 =99 it
(1) Fdd (A)
(2) I (B)
(3) FaE (C)

(4)  (B) @ (C) <

[Question ID = 105][Question Description = S19_Social Science_Q078]
1 [Option ID = 417]
2 [Option ID = 418]
3 [Option ID = 419]
4 [Option ID = 420]

A wWw N -

49)
Which of the following example/examples in a classroom discussion could give better
understanding of gender equality ? Choose the correct option.
(A) National Anthem
(B) Story ‘Sultana’s dream’
(C) The suffragette movement
(D) Women’s right to wear clothes of their choice
Options :
(1) (A), (B) and (Q)
() (B),(C) and (D)
(3)  (A) (C) and (D)
(4)  Only (C) and (D)



TR SIS SRt THEl SRl A5 T o fore f 9 A 8 3are et § == % S fau S wend
27 wdt fasew 97 -

(A) T T

(B) ‘el 1 WS el

(C) wafesR e

(D) Hieell sl A9H Y5E % H9S YeT I AR

(1) (A), (B) @1 (C)
(2) (B), (C) 7 (D)
(3)  (A), (C) 7 (D)
(4) REA (C) a1 (D)
[Question ID = 106][Question Description = S19_Social Science_Q079]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

50)
A social science teacher wanted to discuss discrimination in her class. Which of the
following examples would be suited for the discussion ?
(A) Dr. Bhimrao Ambedkar’s childhood experiences
(B) Omprakash Valmiki's book “Joothan’
(€) Process of making the Constitution of India

Options :

(1) (A)and (B)
(2)  (B) and (C)
(3) (A)and (O
(4) Only (B)



ek grferek fagr &1 forfes oot e 8 deve & fovm W 9= e 9ed 81 e g
T /Y IeE == o Ty S9ge Bl ?

(A) =1 HiUE SHogH & F9 *h HJ9E

(B) Simy=HTel aleHifa ol Y& S’

(C) ¥Rd =l HfGeH 7 i Wisha

faeea ;
(1) (A) 3R (B)
(2) (B) ¥R ()
(3) (A)#R(Q)
(4) Ee (B)
1[.Q:J<[a;zit?; I|I[)> =412 (;]7][Question Description = $19_Social Science_Q080]

2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

51)

After introducing the concept of discrimination, in a middle level social science classroom
a teacher wants her student to engage in critical inquiry about discrimination faced by
people at lower social stratum. Which of the following activity/activities should find place
in her lesson plan ?

(A) Organizing debate on this topic.
(B) Delivering a lecture on “What is discrimination ?’.
(C) Collection of newspaper articles on discrimination.

Options :

(1)  Only (A)

(2)  Only (A) and (B)
(3)  Only (A) and (C)
(4)  (A), (B) and (C)



RHE T G 1 UEd S U9E U WA W ki wfeh foe sl e # fofee
femnfefl =1 ‘=1 I =1 3 Arl g1 YA fohe S el SevEl’ 1 HHieee S |
Hfed & =medr g1

e & 3 g nfafafymfafafrar Tt we g § e o gt § 2

(A) feu TTu fawa g2 e-foame = ST

(B) ‘HEWE 1§’ W U AWAT &l

(C) YeHE ¥ Hafd STEaR & @@l ol TH HLl

faerea :

(1) e (A)

(2) A (A) G991 (B)

(3) A (A) 91 (O)

(4) (A), (B) 91 (C)

[Question ID = 108][Question Description = S19_Social Science_Q081]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

52)
Read the following statements (A) and (R) on the role of social science teacher and choose
the appropriate option.
Assertion (A) : Social Science teacher requires understanding of multiple perspectives
on any economic or social issue.

Reason (R) : [ssue such as poverty and caste-based discrimination may require more
than one kind of explanation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

( Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

SIS



wreifees fomm & foerss w6t yftes @ frefefad semt (A) T (R) 1 9fee sk S92 faemey &
=Y Fhifeu |
HUA (A) : TRl enifeier g wraifsier ge o Uk wrifsie fasm o et = ggel gieshiv i qa
B Ffe |
THIOT (R) : RIS @@ i ST S8 02 o1 e il ¥ STl i &1 siedd 98 gl ¢ |
& fased =4 |
(1) (A) 2 (R) BT T& € 3T (A) F1 (R) Tl =00 & 2
(2) (A) 3R (R) HT FE € R (A) FT (R) S AR Tl HAl
(3) (A) @& 2 @feFA (R) e 2
4) (A) 3R (R) EHT Terd § 1
1[.Q:.|([a;[t)itci); |I|; ==413<3)]9][Question Description = S19_Social Science_Q082]
2. 2 [Option ID - 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

53)
Read the following statements with regard to social science curriculum development and
choose the appropriate option.

Statement (A): At middle stage onwards, students are required to study many topics
under the subject of social science and hence leading to curriculum load.

Statement (R): The major reason for curriculum load in social science is the way social
science curricular materials developed for school children which are non-
comprehensible,

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.



arifstes fasm st & fasrg & desl o frefafaa wort 1 ufen qen sugsa faded & =9
e |

HUA (A) : WEATHE (Tafeer) w & Iud faente=i i qmifses fomr & fau & siaid w5 5=
I-fauai o1 SAeE A ] SFEId Bdl © SR T8 UeAAl % YR 1 §el ¢

WA (R) : g fomm # ares=at 9R & fau ger s ge & T fow T @ ool 5= &
o, gt fasm ureasn Tt @1 fam foman o § 97 s @ 2

faeea :

(1) (A) 3R (R) 21 Wel € a1 (R), (A)FI F&l =0 &

2) (A) 3R (R) 2T T & 991 (R), (A) F1 T& =En TE §

(3) (A) 9EI € Wg (R) A B

4) (A) Ted @ 9% (R) GE €

[Question ID = 110][Question Description = S19_Social Science_Q083]

1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

54)
Which of the fo]lowing can be treated as secondary sources for a social science class ?

(1) Photographs from earthquakes in Bhuj and its description
2) Edited volume of articles on Akbarnama

(2)
(3) Jawaharlal Nehru's letters to Indira Gandhi
(4) Mahatma Gandhi’s book Hind Swaraj

Treferfad | 9 ferment i faam &t @en o fgdiae Sid @ 7% A S Hehdl © 7
(1) Y9 H 9= F 999 H1 T2l U6 39 famm

(2)  SAFHECH 9L oAl & Haifed Hererd

(3) Efeu Wi = ford TTu e 486 & U

(4) HETEHT Wi T TE fag @

[Question ID = 111][Question Description = S19_Social Science_Q084]

A w N =

1 [Option ID = 441]
2 [Option ID = 442]
3 [Option ID = 443]
4 [Option ID = 444]

55)



Match the following and choose the appropriate option.

(a) Analytical Rubric (i) Containing performance descriptors and learning
outcomes.

(b)  Checklist (ii) Single scale but detailed performance descriptors
(c) Holistic Rubric (iii) Binary scale but detailed performance descriptors
Options :

(1) (a)-Q), (b)-(id). (c)-(ii)

(2)  (a)-Gi), (b)-(3), (c)-(iii)

(3)  (@)-(), (b)-(ii), (c)-(i)

(4 (a)-(), (b)-(iii), (c)-(3)

Trfafaa =1 gafem #ifew $iK 39w fases g -

(a) fowormuneRss wafter (i)  WewH S SR s fshy faw g
(b) i T (if) TRl T e o weRi ook
(c) YIIIH EaNH (iii) <L A fohq fosga geei avis

[Question ID = 112][Question Description = S19_Social Science_Q085]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

56)
Which of the following questions assess the application aspect of cognitive process ?
(A) What were the reasons for the revolt of 1857 ?

(B) State one difference between economic activities and non-economic activities. Give
suitable examples,

(C) What are direct taxes ? Give examples.
(D) Many nations in South Asia are not federal systems of governance. Explain.
Options :

(1) (A), (B) and (C)
() (B), (C) and (D)
(3) (A), () and (D)
(4) (A), (B) and (D)



Frefafaa 5 | #1999y deemeTe uferan o ' eyErT’ Uge] & SehRed #id § 2
(A) 1857 o Tage = =1 s & ?
(B) emfeier nfafaferai iR R-snfefe nfafaferl & == w om fafed | soge Seew Sifem |

(C) Weasl L 3 & 7 FeTeL i |
(D) <feofl ufern # ¢ <o ® vmae &% W@ 93 E € samen #ife
Toaere -
(1) (A), (B) 3 (©)
(2 (B, (© R (D)
(3)  (A), (O ¥R (D)
(4) (A), (B) &R (D)
1[.Q:J¢[acs):)itci>or:] |I|; =414 ; ]3][Question Description = $19_Social Science_Q086]

2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

57)
Which of the following questions assess only the factual knowledge of learners ?
(A) Define climate and season. What are main seasons in India ?

(B) Give three differences between the way villages are managed today and in time of
mahajanapadas,

(C) How presence of flora and fauna affects the formation of humus ?
(D) What do you understand by the people as a resource ?

Options :

(1) 0n1Y (A)

(2) (A d (B )

(3) y (A), (B) and (C)
(4) (B)» (C) and (D)



Trefafad § 9 i 9 v, fenfel & Faa qedeTs IH F1 e Hid 8 2

(A) Serar] SR gEE St g e yra § g g sH 9§ 2

(B) TS % 994 H AR HeS9al o §HF H 6l 1 IRl i § 19 fay S|
(C) = Efd S SR Wift SivTd =kt Sufeerfd @ & i W fore yer g9 eewd § 2
(D) Wil =1 HEneH % &9 § e i 9 Y 7 g € 2

(1) e (A)

(2) e (A) 3R (B)

(3) e (A), (B) 3R (C)
) e (B), (C) R (D)

[Question ID = 114][Question Description = $19_Social Science_Q087]
1. 1 [Option ID = 453]

2. 2 [Option ID = 454]

3. 3 [Option ID = 455]

4. 4 [Option ID = 456]

58)

Which of the following are required to develop evaluation procedures according to the
RTE Act 2009 ?

(A) All round development of the child

(B) Connecting from local to global aspects of knowledge

(€) Learning through activities, discovery and exploration
(D) Learning in the child friendly and child-centered manner
Options :

(1) Oﬂly (A), (B) and (C)
(2) (B); (C) and (D)
(3) ¥ (A), () and (D)
(4) (A): (B) and (D)



ARAE, TR 2009 F STHER 3TheH Wshdl #l fasfad & & foau Frafafes § & faat
LI Bl E 7

(A) == =1 Haffo fasm

(B) M % WA § df¥as qggsil wl Srel
(C) Torameraml, @IS Ud st=auv1 g1 HiEl
(D) set-T1el 3R se-higd dfd § Hre

farene -

(1) e (A), (B) ¥R ()
(2) e (B), (C) ¥R (D)
(3) dd (A), (C) ¥R (D)
(4) A (A), (B) 3R (D)

[Question ID = 115][Question Description = S19_Social Science_Q088]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
59)
Assessment is done in schools for the following reasons. Choose the appropriate option.
(A) Certifying students of their learning achievement
(B) Understanding the learning difficulties faced by the students
(C) To make teachers accountable to the school
(D) To find out the ways and means to overcome the learning difficulties
Options :
(1) (A)
(2) (A) and (C)
(3)  Only (A), (B) and (D)
(4 Only (O)

Only
Only



ferrmerl ® smeRer Frefafad =l § fman S € |39 famed 1 =97 Sifa |
(A) Temnfei =1 39et At Haet Syaiferl @ yaiforg # o fau

(B) Taenferai gra fom siferm weed swfeasai =1 wraan foan =0 3R o & fog
(C) Tl =1 fomrer & wft Suer a9m & fo

(D) @ifermq Haeft feamdl § 3w & fore adiei sit el =1 g %3 & fog

(1) e (A)

(2) EE (A) ¥R (C)

(3) e (A), (B) R (D)

(4) = (©)

1[.Q:J<[e;;it?; |||3 =416 :]6][Question Description = $19_Social Science_Q089]

2. 2 [Option ID = 462]

3. 3 [Option ID = 463]

4. 4 [Option ID = 464]

60)
Which of the following questions assess mainly the social science learning outcome -
“Develop the capacity for empathy/appreciation and sensitivity” ?
(A) Describe the ways to restore ground water in your area,

(B) It is becoming very difficult to protect India’s heritage sites. Do you agree with this
statement ? Justify.

(€) A large section of India’s rural children are undernourished. Explain.
(D) What are hindrances in national integration ?

Options :

(1)  Only (A), (B) and (C)
(2) Only (B) and (C)
(3 Only (C) and (D)
(4)  Only (A), (C) and (D)



frfafaa § 9 #F | woa gerd: arfes faam % sfrmy freed - aggyfa odten o
Hegitad o fae &g argal =1 fae’’ 1 3T &3 © 2
(A) o1 & H o §e 1 e w0 w1 fafiEl  seeng wife)

(B) WIRA % Ufderiass Tl 1 Y&t T Tid gERt B o1 @l § 1 39 o7 39 HeH ¥ Uerd
2 7 gerfud shifsra)

(C) WA o T4l o Uah 92 9N & o= FUIed & | e Sifer |

faeea

(1) e (A), (B) ¥R ()
(2) e (B) ¥R (C)
(3) T (C) R (D)
(4) Ee (A), () ¥R (D)

[Question ID = 117][Question Description = S19_Social Science_Q090]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

Topic:- ENG_Q91-99_L1_P2_S1_CTET

1)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

Read the following combinations and choose the one that does NOT match the woman's
character :

(1)

(

(

2)
(3)
4)

She was inquisitive-she provoked the author by asking questions.
She was a good listener- she preferred listening.

She was kind and compassionate-she offered him food.

She was sensitive and caring- she was afraid the boy might get hurt.

[Question ID = 148][Question Description = S19_English Content/Pedagogy_Q091]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

2)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

What probably strengthened the bond between the author and the woman ?

(D)

(

(

2)
(3)
4)

seeking company
loneliness

food

love for talking to strangers

[Question ID = 149][Question Description = S19_English Content/Pedagogy_Q092]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

3)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

How

(1)
(2)
(3)
(4)

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

did the author respond to woman’s behaviour ?
freely

suspiciously

cautiously

hesitantly

[Question ID = 150][Question Description = S19_English Content/Pedagogy_Q093]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

4)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached , a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

Read the following statements and find the INCORRECT statement :

(D)

(

(

2)
(3)
4)

The boy was at a safe distance from the engine.
The woman clutuched the author’s arm.

The woman smiled at author reassuringly.

The author caught her fingers to climb the stairs.

[Question ID = 151][Question Description = S19_English Content/Pedagogy_Q094]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

5)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached , a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

“I saw a spasm of pain and fear and sadness pass across her face”. This implies that the
woman

(1)

(2)
(3)
(4)

was very weak at heart
had been through a similar experience
was very sensitive and touchy

was very loving and caring

[Question ID = 152][Question Description = S19_English Content/Pedagogy_Q095]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

6)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

2. She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

I

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

4, Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

“She smiled at me reassuringly , and took my hand again: but her fingers trembled against

L

mine .

The woman was undergoing a conflict of emotions. Read the fo]lowing statements and
select the most suitable explanation for the same.

(1) The woman was relieved for the boy but was still scared.
(2) The woman was shallow and didn’t have depth in her emotions.
(3

3) The woman wanted to comfort the author but was petrified for the boy.
(4) The woman was completely confused.

[Question ID = 153][Question Description = S19_English Content/Pedagogy_Q096]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

Identify the part of speech in the underlined part of the following sentence.

“She took obvious pleasure in watching me eat”.

(1)
(2)
(3)

(4)

Participle
Gerund
Noun
Adverb

[Question ID = 154][Question Description = S19_English Content/Pedagogy_Q097]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

8)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached , a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

Which of the following words in para 4 means the same as ‘flinched’?

(D)

(

(

2)
(3)
4)

trembled
winced

relaxed
smiled

[Question ID = 155][Question Description = S19_English Content/Pedagogy_ Q098]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

9)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

I

She took me into the station dining-room, ordered tea and samosas and jalebies, and
at once I began to thaw and take a new interest in this kind woman. The strange
encounter had little effect on my appetite. I was a hungry school boy, and I ate as
much as I could in as polite a manner as possible. She took obvious pleasure in
watching me eat, and I think it was the food that strengthened the bond between us
and cemented our friendship, for under the influence of the tea and sweets I began
to talk quite freely, and told her about my school, my friends, my likes and dislikes.

She questioned me quietly from time to time, but preferred listening; she drew me
out very well, and I had soon forgotten that we were strangers. But she did not ask
me about my family or where I lived, and I did not ask her where she lived. I accepted
her for what she had been to me- a quiet, kind and gentlewoman who gave sweets
to a lonely boy on a railway platform.

After about half-an-hour we left the dining-room and began walking back along the
platform An engine was shunting up and down beside platform No.8 and as it
approached, a boy leapt off the platform and ran across the rails, taking a short cut
to the next platform. He was at a safe distance from the engine, and there was no
danger unless he had fallen; but as he leapt across the rails, the woman clutched my
arm.

Her fingers dug into my flesh, and I winced with pain. [ caught her fingers and
looked up at her, and I saw a spasm of pain and fear and sadness pass across her
face. She watched the boy as he climbed other platform, and it was not until he had
disappeared in the crowd that she relaxed her hold on my arm. She smiled at me
reassuringly, and took my hand again: but her fingers trembled against mine.

Which of the following words is opposite in meaning to the word “tremble” as used in
para 4 of the passage ?

(1)

(

(

2)
(3)
4)

quiver
throb
jitter

steady

[Question ID = 156][Question Description = S19_English Content/Pedagogy_Q099]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

Topic:- ENG_Q100-105_L1_P2_S1_CTET

1)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

Which of the following words appropriately reflect the feel of the poem ?

(1) serene

(2) sombre
(3) dismal
(4) austere

[Question ID = 157][Question Description = S19_English Content/Pedagogy_Q100]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

2)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

According to the poem, which of the following is not coveted by the man ?
(1) sound sleep

(2)
(3) paternal acres
4)

(

[Question ID = 158][Question Description = S19_English Content/Pedagogy_Q101]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

acclamation

Fresh air

3)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

What does the word ‘stone’ in last stanza refer to ?
(1) sand stone

(2) lime stone

(3) pumice stone

(4)

[Question ID = 159][Question Description = S19_English Content/Pedagogy_Q102]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

tomb stone

4)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

How can the innocence of a man be given a boost ?
(1) contentment

(2) health

(3) meditation

(4) food

[Question ID = 160][Question Description = S19_English Content/Pedagogy_Q103]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

5)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

The man is blessed to have the following, according to stanza 2 of the poem :
(1) Pure air to breathe and land to grow food.

(2)
(3) Sound sleep and relaxed study
4)

(

[Question ID = 161][Question Description = S19_English Content/Pedagogy_Q104]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

Shade in summers and firewood in winters.

Mental peace and quietness

6)



Read the extract of the following poem and answer the question that follow by choosing
the most appropriate option :

Happy the man, whose wish and care
A few paternal acres bound,
Content to breathe his native air, In his own ground. - 3

Whose herds with milk, whose fields with bread,
Whose flocks supply him with attire,
Whose ftress in summer yield him shade, In winter fire, - 6

Sound sleep by night; study and ease,
Together mixed; sweet recreation;
And innocence, which most does please, with meditation. - 9

Thus let me live, unseen, unknown;
Thus unlamented let me die;

Steal from the world, and not a stone, Tell me where I lie. - 12

Which poetic device has been used in the second stanza of the extract ?
(1) alliteration
(2) personification
(3) simile
(4) metaphor
[Question ID = 162][Question Description = $19_English Content/Pedagogy_Q105]
1 [Option ID = 645]
2 [Option ID = 646]

3 [Option ID = 647]
4 [Option ID = 648]

A wWw N =

Topic:- ENG_Q106-120_L1_P2_S1_CTET

1)

involves a transfer of given information from one person to another or from
one form to another.

(1) Information gap activity
(2) Opinion gap activity

(3) Reasoning gap activity
(4) Preference gap activity

[Question ID = 163][Question Description = S19_English Content/Pedagogy_Q106]
1 [Option ID = 649]
2 [Option ID = 650]
3 [Option ID = 651]
4 [Option ID = 652]

A w N =

2)



As a teacher while designing the task to be conducted in the language classroom what
criteria will you take into consideration ?

(A) Tasks should promote attention to meaning, purpose and negotiation.
(B) Tasks should cater the needs of the learners.
(C) Tasks should provide opportunities for language practice.
(D) Tasks should promote self consciousness.
Choose the correct answer from the options given below :
(1) (A), (B) and (C)
@ () (C) and (D)
(3) (A), (B), (O) and (D)
(4) (A), (©) and (D)
[Question ID = 164][Question Description = S19_English Content/Pedagogy_Q107]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]

3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

3)
Match the following :
(A) Classifying ()  Looking the patterns and regularities
(B) Inducing (I) Showing the main ideas in a text in the form of map

(C) Concept Mapping (IIT) Writing down the important information in a text in
your own words

(D) Taking Notes (IV) Putting things that are similar together in groups

Choose the correct answer from the options given below :

(1) (A)- @), (B) - (1), (©) - (1), (D) - (IV)
(2 (A)- @), (B) - (@), (©) - (L), (D) - (IV)
(3)  (A) - (), (B) - (L), (C) - (IV), (D) - ()
(4 (A)- @), B)- @), (C) - @), D) - ()

[Question ID = 165][Question Description = S19_English Content/Pedagogy_Q108]

1. 1 [Option ID = 657]

2. 2 [Option ID = 658]

3. 3 [Option ID = 659]

4. 4 [Option ID = 660]

4)
In a classroom students and teacher are discussing the theory of Chomsky. One of them
is sharing the critical aspects of the theory and its implication with the whole class.
Here the whole class is involved in which type of listening ?
(1) Empathetic Listening
(2) Content Listening

(3) Analytical Listening

(4)

4)  Appreciative Listening



[Question ID = 166][Question Description = S19_English Content/Pedagogy_Q109]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

5)
Consider the statements :

(A) Expository writing is used for defining and introducing different concepts and ideas
to the reader.

(B) Descriptive writing is commonly used by professional marketing people to persuade
others.

(1)  (A) is right.

(2) (B)is right.
(3) (A) and (B) both are right.

(4) (A) and (B) both are wrong,

[Question ID = 167][Question Description = S19_English Content/Pedagogy_Q110]
1 [Option ID = 665]
2 [Option ID = 666]
3 [Option ID = 667]
4 [Option ID = 668]

AW N =

6)
In a classroom, a teacher by providing a text to the students asks to gather the most
important information quickly and share it with others.
Hence, in which type of reading the students are involved in ?
(1)  Skimming
(2) Scanning
(3) Intensive Reading
(4) Extensive Reading

[Question ID = 168][Question Description = S19_English Content/Pedagogy_Q111]
1 [Option ID = 669]
2 [Option ID = 670]
3 [Option ID = 671]
4 [Option ID = 672]

A wWw N -

7)



A language teacher should provide during second language teaching-learning,

(A)
(B)
(C)
(D)

comprehensible input
drill

good prompts
stressfree environment

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B) and (C)
(A), (B) and (D)
(A), (€) and (D)
(B), (C) and (D)

[Question ID = 169][Question Description = S19_English Content/Pedagogy_Q112]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

8)

Consider the statements :

(A)
(B)
(1)
(2)
(3)
(4)

A student portfolio is a purposeful collection of pieces of student work.

Portfolio can encourage students to evaluate their own strengths and weaknesses.
(A) is right.

(B) is right.

(A) and (B) both are right.

(A) and (B) both are wrong.

[Question ID = 170][Question Description = S19_English Content/Pedagogy_Q113]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

9)

Select odd one out :

(1)

(2)
(3)
(4)

Portfolio can be an effective way of communicating with parents by showing concrete
examples of students” work.

Portfolio can empower learners to assess teacher’s capabi]jties.
Portfolio can pmvide a mechanism for student centred assessment.

Portfolio can provide teachers and students with opportunities to reflect.

[Question ID = 171][Question Description = S19_English Content/Pedagogy_Q114]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

10)



If a teacher is planning the learning tasks for students then the tasks should be

(1) simple and easy to perform

(2) complex in nature
(3) equal to the level of learners
(4) slightly higher than the level of learners

[Question ID = 172][Question Description = S19_English Content/Pedagogy_Q115]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]
11)
A teacher is asking the students to write essay every month and submit them for assessment.
Hence, the purpose of the teacher is
(1) assess the considerable progress of students.
(2) collect the different writing of students.
(3) provide grades to the students.

(4) choose the best writing for award.

[Question ID = 173][Question Description = S19_English Content/Pedagogy_Q116]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

12)

A Tamil young boy finds a job in Canada . There he starts to stay in a locality where most
of people talk in Punjabi language. Staying with them the boy also starts to talk in Panjabi
within few days which was a totally new language to him. Hence, the process by which
the Tamil boy started to converse in Punjabi language will be called
(1) Language learning
(2) Language acquisition
(3) Language immersion
(4) Language training

[Question ID = 174][Question Description = S19_English Content/Pedagogy_Q117]

1. 1 [Option ID = 693]

2. 2 [Option ID = 694]

3. 3 [Option ID = 695]

4. 4 [Option ID = 696]

13)

In a language classroom, for improving the performance of learners a teacher should

highlight the mistakes of learners

(1)
(2) provide standard structures to learn

(3) create suitable condition to communicate

(4) present standard examples of communication



[Question ID = 175][Question Description = S19_English Content/Pedagogy_Q118]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

14)
During the classroom presentation, the main focus of learners should be on
(1) meaning making
(2) coverage of facts
(3) slangs and jargons
(4) completion of presentation

[Question ID = 176][Question Description = S19_English Content/Pedagogy_Q119]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

15)

Match the following :

(A) Socio-cultural (I) Language is governed by discourse-specific terms and
texts for different purposes.

(B) Interactional (I) Language is a communicative activity in which the
social context, customs are central.

(C) Genre (II) Language is the acquisition of abstract knowledge and
involves properties of mind.

(D) Cognitive (IV) Language is a vehicle for the realization of interpersonal

relations.
Choose the correct answer from the options given below :
0 @A) -1 B) -1, (©) - (I, (D) - (IV)
(2)  (A) - D), (B) - (IV), (C) - (1), (D) - (D)
(3) (&) - @) (B) - (), (C) - (IV), (D) - (IT)
(4 (A)- D, (B) - @V), (C) - (I), (D) - (1)

[Question ID = 177][Question Description = S19_English Content/Pedagogy_Q120]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]

3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

Topic:- HIN_Q121-128_L2_P2_S1_CTET

1)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

‘Staa &t e ardfasar’ | aegd -
(1) e i AT T

(2) SiaA H 3T arel FeY § Hicagar
(3)  Site =l Te=TE

(4)  SireA o A e

[Question ID = 208][Question Description = S19_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

2)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

T @t it oi wifa & frad afg &t €2
(1) foer

(2) I & I Al

(3) WIiEnie e

(4) urftenfEr ge=rar

[Question ID = 209][Question Description = S19_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]

3)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

RIS o SER S92 A §edl § -

(1) 9GWIE i HIR ST

(2)  SACHTEYETE SR HIE i A

(3) TEA-THM I ygd

(4) TEE-S HT F R
[Question ID = 210][Question Description = S19_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

4)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

TR & STER e9R IR iR amfas e & fau anvyer § -
(1) =W
(2) w&A
(3)  TM-wfcRIeR &
(4) wmifeER gfism
[Question ID = 211][Question Description = S19_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]

3. 3 [Option ID = 843]
4. 4 [Option ID = 844]

5)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

frerfafad 9 & SH-1 S5 -8 &1 ey TE & 2
(1) Hs/Ed WGl &

(2) T=a = g

(3) eAcAfavE™E | A

(4) Y& I wEAl | 9fg

[Question ID = 212][Question Description = S19_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]

6)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

3Hed

[Question ID = 213][Question Description = S19_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]

7)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

= 9 9 FF-91 55 A & 3 78 22
() FE-

(2) HE-TEE

(3) HI-HSH
(4) TE-TE

[Question ID = 214][Question Description = S19_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

8)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

TN % arEsE ST oTel €9H-E9H AW Hd T8 9 erenfavard it gRen
T Sl 8 | Y 7 had G2 I G " 2l ¢ afcdk ATH H S Ta @Rl o gu et
T TF TR Wi iR wHfaes e & fou 9gd anver €1 5HY g9 3R o meed
@l § R aga-Hi A | o= € 9l 81 wifeh stewd | w1 oi afea ades 9 du
S T LRI FR Gehell € | STtk § SvF frefist 2t 8, 17 oo € B d9d A  Sfte =
FHE| A, TR HeHTaS T HEHE, G S AR TE-e ] goenee ¥ Ted fHadi |
T w1 Gl 3R vifd ¥ wEntE g geeTsd aedl g1 =6 T g S deve fiee aw
edl w1 HYL I I RIRT HL, Tk TH-gEL § 94 §@-a8, G, AT Treraei & geg
VS Fle Geh IR AT Hetsier o eeafavarg % e gH-gen | S |

YR Iee € -

(1) @|
(2) eHd
(3) &
(4) <=

[Question ID = 215][Question Description = S19_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]

Topic:- HIN_Q129-135_L2_P2_S1_CTET

1)



few wu wertyr it sagde ufew @A U e uye & fow wed Iuge fawmen @t e
ShitT |

fas = ST 1 Taent Sifawar SR S0 fads W e o fem §1 SHE T
Ferenifa 2R gy off 19 fow 81 19 751 1 9 YA R W9 ', 7T Ua o T A wel A9
feu, =l =1 g S oft €1 81 FRErE % wifE F e # e 3 U1 Teig %1 et Tt
fogm = ari-ded 3o fran € 1 59 WahR ani-de &1 e B 4 faam € gy en § T srnifa
1 RV SR TREIE fagy @ fawm o W@

g7 SF1 WK & 920 % YR R H T8I 61 foaa sto-a9 § 1w €1 < = ms st
1 YA g=rsll iR goun & Taear o1 2 Sil 3% HgUANT % WIF 91 geuEn A feer w6 €

o 3 7oA 1 o o fea &2

(1) ST

(2) iRl

(3) ST

(4) Taeemeie
[Question ID = 216][Question Description = S19_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]

3. 3 [Option ID = 863]
4. 4 [Option ID = 864]

2)
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[Question ID = 217][Question Description = S19_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 865]
2. 2 [Option ID = 866]
3. 3 [Option ID = 867]
4. 4 [Option ID = 868]

3)

fau U ey W1 saTYEs Ufeu qUT YUY T USH & fog e Iugad famed &1 wEd
THITTT |

o= 3 TS 1 yeenT ifasadl IR 39 faas ™ Wy W e g1 S mA A
Fereifa 2R ey off 19 fow 81 19 A9 1 T W W &, T Ua | faee A w6l 9
feu, =l == gr st oft €1 % | wREE % I % g § IS St a9 Teigil i heaTe @t
foam A arl-god 3e0= a1 8 1 39 Wb avi-ge o1 0l 24 | faee & g gan | TR amifa
1 AV SR YREE fagy w1 fawn o @ R

29 ST YRR % qe0 & YR R 99 Y= ol fomm ere-amg § fefe 81 S = v .nfa
1 AT ZETe SN GO F foman W € S SHF HguAnT % ™IF U gEyarT H fwn W

sifrareRt IS <1 Torment 9 =& Taan ?
(1) S9a 3 |HS

(2) HENS 3R g

(3) EYSL SR U

(4) TSl W FHEaT H

[Question ID = 218][Question Description = S19_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]
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[Question ID = 219][Question Description = S19_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]

3. 3 [Option ID = 875]
4. 4 [Option ID = 876]
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[Question ID = 220][Question Description = S19_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]
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Tt AT g=rsll SiR GO & Toman o1 2 Sil SHeh HgUANT o ©IF T gHAr i fee w6

‘foram ' ores H 399§ -
(1) fem

(2) 9

3) fa

(4 A

[Question ID = 221][Question Description = S19_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4. 4 [Option ID = 884]
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ShitT |
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[Question ID = 222][Question Description = S19_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]

Topic:- HIN_Q136-150_L2_P2_S1_CTET

1)
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[Question ID = 223][Question Description = S19_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]
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1[Q:1?;titgn |I|; =829§]4][Question Description = S19_Hindi Content/Pedagogy_Q137]
2. 2 [Option ID = 894]

3. 3 [Option ID = 895]
4. 4 [Option ID = 896]
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[Question ID = 225][Question Description = S19_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]
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[Question ID = 226][Question Description = S19_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]
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[Question ID = 227][Question Description = S19_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]
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[Question ID = 228][Question Description = S19_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]
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[Question ID = 229][Question Description = S19_Hindi Content/Pedagogy_Q142]
1 [Option ID = 913]
2 [Option ID = 914]
3 [Option ID = 915]
4 [Option ID = 916]
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[Question ID = 230][Question Description = S19_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]

3. 3 [Option ID = 919]
4. 4 [Option ID = 920]
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[Question ID = 231][Question Description = S19_Hindi Content/Pedagogy_Q144]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]



4. 4 [Option D = 924]
10)
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[Question ID = 232][Question Description = S19_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

11)
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[Question ID = 233][Question Description = S19_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4. 4 [Option ID = 932]
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[Question ID = 234][Question Description = S19_Hindi Content/Pedagogy_Q147]

1. 1 [Option ID = 933]

2. 2 [Option ID = 934]

3. 3 [Option ID = 935]
4. 4 [Option ID = 936]
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[Question ID = 235][Question Description = S19_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]

3. 3 [Option ID = 939]
4. 4 [Option ID = 940]
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[Question ID = 236][Question Description = S19_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 941]

2. 2 [Option ID = 942]

3. 3 [Option ID = 943]
4. 4 [Option ID = 944]
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[Question ID = 237][Question Description = S19_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]



3. 3 [Option ID = 947]
4. 4 [Option ID = 948]






